

International Journal of INTELLIGENT SYSTEMS AND APPLICATIONS IN ENGINEERING

ISSN: 2147-6799 www.ijisae.org Original Research Paper

On Vague Cosets and Vague Normal Subgroups

Tarun Kumar¹, Dhanpal Singh^{2*}, M. K. Sharma³, Ajeet Singh⁴, Pardeep Kumar⁵

Submitted: 17/09/2023 **Revised**: 15/11/2023 **Accepted**: 25/11/2023

Abstract. In the present paper, some basic concepts of vague sets and vague groups together with the concepts of vague left and right cosets of a vague group were studied. To more appropriately introduce the vague normal subgroup, we made use of the feature of vague sets and, as a result, some characterizations of vague groups. We also gave some basic concepts related to vague cosets and on behalf of these concepts we proved some classical group theorems and we generalized some new theorems and their proofs on fuzzy coset and fuzzy normal subgroups to the vague coset and vague normal subgroups. We also discussed some important properties.

Keywords. Vague Cosets, Vague Normal Subgroups; Fuzzy Sets, Fuzzy Cosets, Fuzzy Subgroups.

1. Introduction

In 1965, the concept of fuzzy sets was 1st developed by Zadeh [1]. Zadeh's work has unplugged new perceptions and applications with a wide range in the scientific fields. Many real-life problems are often not crip and this problem cannot be handled with the help of bivalued logic i.e., yes or no. Later, Zadeh described a mathematical view on such kind of problems containing vagueness, by giving some truth value function known as membership function to each element of a given problem. Kaufmann [2] developed the notion of fuzzy subsets. In 1971, In his introduction to the idea of fuzzy groups, Rosenfield [3] also covered the notion of fuzzy subgroupoids and fuzzy groups. In 1979, Sherwood and Anthony [4] redescribed the fuzzy group and gave the theory of fuzzy group w.r.t. t-norm. In 1981, W.M. Wu [5] established the normal fuzzy subgroup and discussed some properties of the normal fuzzy subgroup. In 1984, N.P. Mukherjee [6] explained some properties of fuzzy costs along with fuzzy normal subgroups. As a fuzzy set theory extension, Buehrer and Gau [8] later established the idea of vague sets. The concept behind a vague set is that each element's membership can be divided into two categories: true membership and false membership. In 1994, N. Ajmal

¹Department of Mathematics, "Chaudhary Charan Singh University, Meerut (U.P.) India-250004, tkvats3@gmail.com ^{2*}Department of Mathematics, Keshav Mahavidyalaya, Delhi -110034,India, University ofDelhi, drdhanpalsingh@keshav.du.ac.in ³Department of Mathematics, "Chaudhary Charan Singh Meerut India-250004, (U.P.)mukeshkumarsharma@ccsuniversity.ac.in ⁴Department of Mathematics, "Chaudhary Charan Singh University, India-250004, Meerut (U.P.)singhajeet66@gmail.com ⁵Department of Mathematics, "Indraprastha College for Women, University Delhi. Delhi,India, pardeep@ip.du.ac.in

*Corresponding Author: Dhanpal Singh

[7] proposed the lattice of the normal and fuzzy subgroups and discussed some properties of the lattice on the fuzzy normal subgroup. In 1999, Demirci [9] gave a mathematical concept related to Vague groups, which was a different theory from the theory of R. Biswas[12]. In 2001, Yunjie Zhang [10]2020 Mathematics Subject Classification. 03E72, 94D05;05B10,14L30;18C40gave some properties of fuzzy subgroups. In 2005, Wang Jue. [11] studied the roughness of vague sets. Biswas in [12, 13] proposed the idea of Vague groups (VGs) and examined some properties of VGs. Further, in 2008, Ramakrishna in [14, 15] studied normal groups, vague normalizers, vague centralizers, vague weights, and the characterization of cyclic groups with the help of vague groups. In 2011, A. Solairaju [16] studied Q-vague as well as vague normal subgroups w.r.t (T, S) norms. In 2015, V. Amarendra Babu [17] introduced the idea of vague additive groups with their properties. In 2016, Mallika and Ramakrishna [18] studied the concept of vague cosets, vague symmetry, vague invariant, and some of their important properties. Onasanya and ilori in [19, 20] discussed some properties of fuzzy cosets and normal groups. In 2017, Zelalem Teshome Wale [21], studied the concept of I-vague products. In 2020, N. Ramakrishna [22] introduced the notion of multi-vague algebra by defining multi-vague groups, (α,β) -cut of the multi-vague set, true -cut , false α -cut and studied some various properties in the multi-vague group. Nazimul [23] described some results on fuzzy subgroups and fuzzy cosets. Five sections make up the current study paper, including an introduction. In the second section, we outlined some of the fundamental concepts that were used in this work. In the third section, some basic preliminaries; vague sets, vague cosets, vague normal subgroups, and some propositions are given. In the fourth section, we have proved some theorems based on vague cosets and vague normal subgroups. In the next and fifth sections, we gave the conclusion of this work.

^{*}Department of Mathematics, Keshav Mahavidyalaya, University of Delhi, Delhi -110034,India

2. NOTATIONS

 V_A = vague set

 t_A = Truth membership function.

 f_A = False membership function.

 \forall = for all.

 ϵ = belongs to.

G = A group equipped with binary operation *.

 aV_A = vague left coset.

 $V_A a =$ vague right coset.

3. Preliminary

Definition 3.1. *Vague set*

A vague set A in the universe of discourse X is characterized by two membership functions given by; (1) A truth membership function $t_A: X \to [0, 1]$ (2) A false membership function $f_A: X \to [0, 1]$ here $t_A(x)$ indicates membership grade's lower bound of x obtained from "witness for x" and $f_A(x)$ represents "lower bound" on the x negation dervied from the "witness against x" and $t_A(x) + f_A(x) \le 1$. Consequently, the membership grade of x in the "vague set A" is bounded with the sub-interval $t_A(x)$, $t_A(x)$ of [0, 1]. The vague set A can be described as indicated in $t_A(x)$ is said to be the x value in the "vague set" A and

Definition 3.2. Vague Group

Suppose G to be a group, AV_A of G is considered to be a VG of G, if the following properties are true: $-\forall x, y \in G$.

 $i. \quad V_A(xy) \ge \min\{V_A(x), V_A(y)\}. \ i.e., t_A(xy) \ge \min\{t_A(x), t_A(y)\} \& 1 - f_A(xy) \ge \min\{1 - f_A(x), 1 - f_A(y)\}.$

ii. $V_A(x^{-1}) \ge V_A(x)$. i.e., $t_A(x^{-1}) \ge t_A(x) \& 1 - f_A(x^{-1}) \ge 1 - f_A(x)$. here the element (xy) stand for (x * y). and '*', is a binary operation defined on G.

Definition 3.3. *Vague left coset*

Let V_A be a vague group of a group G, for any $a \in G$, aG, a vague left coset of V_A is denoted by a V_A and defined by $-(aV_A)(x) = V_A a^{-1}xi.e.$, $(at_A)(x) = t_A a^{-1}x & 1 - t_A a^{-1}x & 1$

Definition 3.4. Vague right coset

Let V_A be a vague group of a group G, any $a \in G$, a vague right coset of V_A is denoted by $V_A(a)$ and defined by;

$$(V_A a)(x) = V_A x a^{-1} i.e. (t_A a)(x) = t_A x a^{-1} & 1 - f_A a(x) = 1 - f_A x a^{-1}$$
 $\forall x \in G.$

Definition 3.5. *Vague normal subgroup*

Let V_A be a vague group of a group G then V_A is called Vague normal subgroup if $\forall x, y \in G, V_A(xy) = V_A(yx)$ i.e. $t_A(xy) = t_A(yx) \& 1 - f_A(xy) = 1 - f_A(yx)$. As an alternative, a vague group V_A is considered to be a vague normal subgroup of G, $fV_A(x) = V_A yxy^{-1}$ i.e. $t_A(x) = t_A yxy^{-1} \& 1 - f_A(x) = 1 - f_A yxy^{-1} \forall x, y \in G$.

Proposition 3.6. Let G be a group and A be any vague group of G; then $V_A x^{-1} = V_A(x) \ \forall x \in G$.

Proposition 3.7. V_A is a vague group of group G if and only if $VAxy^{-1} \ge \min V_A(x), V_A(y)$ $\forall x, y \in G$.

Proposition 3.8. If $V_A x y^{-1} = V_A(e)$ then $V_A(x) = V_A(y)$ is a vague group of G, where e indicates the identity of group G and V_A denotes a vague group of G, $\forall x, y \in G$.

Proposition 3.9. *If* V_A *is a vague group of a group G then* $V_A(x) \le V_A(e) \ \forall x \in G$.

4. THEOREMS AND THEIR MATHEMATICAL PROOFS

Theorem 4.1. Let V_A be a vague group of a group G, then $eV_A = V_A = V_A$ i.e. et $t_A = t_A = t_A$ and $1 - ef_A = 1 - f_A = 1 - f_A = 0$, where e being identity in G.

Proof: We assume that V_A to be a vague group of G and e being the identity within G. Then eV_A and V_Ae are respectively left and right cosets of V_A in G. Now, $\forall x \in G$, We have,

$$-(et_A)(x) = t_A e^{-1}x = -t_A(x) = t_A x e^{-1} = (t_A e)(x)$$
 &1 - ef_A(x) = 1 - f_A e^{-1}x
= 1 - f_A(x) = 1 - f_A x e^{-1} = 1 - f_A e(x) \forall x \in G

 $\Rightarrow etA = tA = tAe\&1 - efA = 1 - fA = 1 - fAe. \Rightarrow eVA = VA = VAe.$

Theorem 4.2. Let V_A be a vague group of a group G and $a \in G$. Then, $V_A(a) = V_A(e)$ i.e. $t_A(a) = t_A(e)$ and $1 - f_A(a) = 1 - f_A(e)$ if and only if $aV_A = V_A = t_A = 1 - f_A = 1 - f_A$

Theorem 4.3. Let V_A be a normal vague group of a group G and $a \in G$, then every left coset of V_A is a right coset of V_A in G i.e. $aV_A = V_A a$ i.e. $at_A = t_A a$ and $1 - af_A = 1 - f_A a$ $\forall x \in G$.

Proof: Let V_A be a normal vague subgroup of a group G and $a \in G$. Then aV_A and V_Aa are respectively left and right coset of V_A in G. Now, $\forall x \in G$, we have $(at_A)(x) = t_A\left(a^{-1}x\right) = t_A\left(xa^{-1}\right) = (t_Aa)(x)$ and $1-(af_A)(x) = 1-f_A\left(a^{-1}x\right) = 1-f_A\left(xa^{-1}\right) = 1-(f_Aa)(x) \Rightarrow (at_A)(x) = (t_Aa)(x) & (at_A)(x) = 1-(f_Aa)(x) \Rightarrow aV_A = V_Aa \ \forall a \in G$

Theorem 4.4. Let V_A be a vague group of an abelian group G and $a \in G$, then every left coset of V_A is a right coset of V_A in G i.e. $aV_A = V_A a$ i.e. $at_A = t_A a$ and $1 - af_A = 1 - f_A a$ $\forall x \in G$. Proof: Proof of theorem 4.3 could be followed.

Theorem 4.5. Let V_A and V_B be two vague groups of a group G and $a \in G$. Then- (i) $aV_A = aV_B$ if and only if $V_A = V_B$ i.e., $at_A = at_B$ if and only if $t_A = t_B$ and $1 = af_A = 1 = af_B$ if and only if $1 = f_A = 1 = af_B$. (ii) $1 = af_A = 1 = af_B$ if and only if $1 = af_A = 1 = af_B$. (iii) $1 = af_A = af_B$ if and only if $1 = af_A = af_B$ if and only if $1 = af_B$ if and only if

Proof: Let $aV_A = aV_B$, where $a \in G$ and let e being identity in G, \Rightarrow a $t_A = at_B$ and $1 - af_A = 1 - af_B$. From the definition of left coset, we have $\forall x \in G$, $t_A(x) = t_A(ex) = t_A\left(a^{-1}ax\right) = (at_A)(ax) = (at_B)(ax) = t_B\left(a^{-1}ax\right) = t_B(ex) = t_B(x)$ and $1 - f_A(x) = 1 - f_A(ex) = 1 - f_A\left(a^{-1}ax\right) = 1 - (af_A)(ax) = 1 - (af_B)(ax) = 1 - f_B\left(a^{-1}ax\right) = 1 - f_B(ex) = 1 - f_B(x) \Rightarrow t_A(x) = t_B(x)$ and $1 - f_A(x) = 1 - f_B(x) \Rightarrow V_A(x) = V_B(x) \Rightarrow V_A = V_B$. Conversly, suppose that $V_A = V_B$ i.e. $t_A = t_B$ and $t_A = t_B$ and $t_A = t_B$. Now, $\forall x \in G$, $t_A = t_B$ and $t_A = t_B$ and

Theorem 4.6. Let V_A be a vague group of a group G and $a^- \in G$. If $V_A = V_A a^{-1} x a i.e.$ $t_A(x) = t_A a^{-1} x a a n d$ $1 - f_A(x) = 1 - f_A a$ $1 - f_A(x) = 1 - f_A a$ $1 - f_A(x) = 1 - f_A(x) = 1 - f_A(x)$ $1 - f_A(x)$

Proof: Let V_A be a vague group of a group G and let $a \in G$ and e being identity in G. Let $V_A = V_A(a^{-1}xa) \ \forall x \in G$ i.e. $t_A = t_A(a^{-1}xa)$ and $1 - f_A = 1 - f_A(a^{-1}xa)$. Now, from the definition of right coset, we have $\forall x \in G$, $(t_A a)(x) = t_A(xa^{-1}) = t_A(a^{-1}(xa^{-1})a) = t_A(a^{-1}xa^{-1}a) = t_A(a^{-1}xe) = t_A(a^{-1}x) = (at_A)(x)$ and $1 - (f_A a)(x) = 1 - f_A(xa^{-1}) = 1 - f_A(a^{-1}(xa^{-1})a) = 1 - f_A(a^{-1}xa^{-1}a) = 1 - f_A(a^{-1}xe) = 1 - f_A(a^{-1}x) = 1 - f_A(a^{-1}xa^{-1}a) = 1 - f_A(a^{-1}xe) =$

Theorem 4.7. Let V_A be a vague group of a group G and $a,b,c,d \in G$. Then, i. $a(bV_A) = (ab)V_A$, if bV_A is a vague group of G. ii. $(V_Aa) b = V_A(ab)$, if V_Aa is a vague group of G. iii. $(ab)V_A(cd) = a(bV_Ac) d$, if bV_Ac is a vague group of G.

Proof: (i) $\forall x \in G$, We have, $[a(bt_A)](x) = (bt_A)(a^{-1}x) = t_A(b^{-1}(a^{-1}x)) = t_A(b^{-1}a^{-1}x) = t_A(ab)^{-1}x) = [(ab)t_A](x)$ and $1 - [a(bf_A)](x) = 1 - (bf_A)(a^{-1}x) = 1 - f_A(b^{-1}(a^{-1}x)) = 1 - f_A(b^{-1}a^{-1}x) = 1 - f_A(ab)^{-1}x) = 1 - [(ab)f_A](x) \Rightarrow [a(bt_A)](x) = [(ab)t_A](x) &= 1 - [(ab)f_A](x) = 1 - [(ab)f_A](x) \Rightarrow a(bV_A) = (ab)V_A.$ (ii) $\forall x \in G$, we have, $[(t_Aa)b](x) = (t_Aa)(xb^{-1}) = t_A(xb^{-1}a^{-1}) = t_A(x(ab)^{-1}) = [t_A(ab)](x)$ and $1 - [(f_Aa)b](x) = 1 - f_A(xb^{-1}a^{-1}) = 1 - f_A(xab)^{-1}) = 1 - [f_A(ab)](x) \Rightarrow [(t_Aa)b](x) = [t_A(ab)](x)$ and $1 - [(f_Aa)b](x) = 1 - [f_A(ab)](x)$.
(iii) $\forall x \in G$, we have, $[(ab)t_A(cd)](x) = t_A[(ab)^{-1}x(cd)^{-1}] = t_A[b^{-1}a^{-1}xd^{-1}c^{-1}] = t_A[b^{-1}(a^{-1}xd^{-1})c^{-1} = (bt_Ac)(a^{-1}xd^{-1})c^{-1} = [a(bt_Ac)d](x)$ and $1 - [(ab)f_A(cd)](x) = 1 - f_A[(ab)^{-1}x(cd)^{-1}] = 1 - f_A[b^{-1}a^{-1}xd^{-1}c^{-1}] = 1 - f_A[b^{-1}(a^{-1}xd^{-1})c^{-1} = 1 - (bf_Ac)(a^{-1}xd^{-1})c^{-1} = 1 - [a(bf_Ac)d](x)$. $\Rightarrow [(ab)t_A(cd)](x) = [a(bt_Ac)d](x)$ and $1 - [(ab)f_A(cd)](x) = 1 - [a(bf_Ac)d](x)$. $\Rightarrow [(ab)t_A(cd)](x) = [a(bt_Ac)d](x)$ and $1 - [(ab)f_A(cd)](x) = 1 - [a(bf_Ac)d](x)$. $\Rightarrow [(ab)t_A(cd)](x) = [a(bt_Ac)d](x)$ and $1 - [(ab)f_A(cd)](x) = 1 - [a(bf_Ac)d](x)$.

Theorem 4.8. Let V_A and V_B be two vague groups of a group G and $a,b \in G$. Then,(i) $aV_A = bV_B$ if and only if $V_A = a^{-1}bV_B$ i.e. $at_A = bt_B$ if and only if $t_A = a^{-1}bt_B$ and $1 - af_A = 1 - bf_B$ if and only if $1 - f_A = 1 - a^{-1}bf_B$. (ii) $V_A a = V_B b$ if and only if $V_A = V_B ba^{-1}$ i.e. $t_A a = t_B b$ if and only if $t_A = t_B ba^{-1}$ and $1 - f_A a = 1 - f_B b$ if and only if $1 - f_A = 1 - f_B ba^{-1}$. Proof: (i) Let V_A and V_B be two vague groups of a group G and G and G and G be being identity in G.

Proof: (i) Let V_A and V_B be two vague groups of a group G and $a, b \in G$ and e being identity in G. Suppose that $-aV_A = bV_B$ i.e. $at_A = bt_B$ and $1 - af_A = 1 - bf_B$. Now $\forall x \in G$, We have $\left(a^{-1}bt_B\right)(x) = t_B\left(\left(a^{-1}b\right)^{-1}x\right) = t_B\left(b^{-1}(a^{-1})^{-1}x\right) = t_B\left(b^{-1}ax\right) = bt_B(ax) = at_A(ax) = t_A\left(a^{-1}ax\right) = t_A(ex) = t_A(x)$ and $1 - \left(a^{-1}bf_B\right)(x) = 1 - f_B\left(\left(a^{-1}b\right)^{-1}x\right) = 1 - f_B\left(b^{-1}\left(a^{-1}\right)^{-1}x\right) = 1 - f_B\left(b^{-1}ax\right) = 1 - bf_B(ax) = 1 - af_A(ax) = 1 - f_A\left(a^{-1}ax\right) = 1 - f_A(ex) = 1 - f_A(x)$. $\Rightarrow t_A = a^{-1}bt_B$ and $1 - f_A = 1 - a^{-1}bf_B$. Now, $\forall x \in G$, we have $(at_A)(x) = t_A\left(a^{-1}x\right) = \left(a^{-1}bt_B\right)\left(a^{-1}x\right) = t_B\left(\left(a^{-1}b\right)^{-1}\left(a^{-1}x\right)\right) = t_B\left(b^{-1}\left(a^{-1}\right)^{-1}\left(a^{-1}x\right)\right) = t_B\left(b^{-1}aa^{-1}x\right) = 1 - f_B\left(b^{-1}aa^{-1}x\right) = 1 - f_B\left(b^{-1}$

Theorem 4.9. Let V_A be a vague group of a group G nd a,b,c,d ∈G. Then, aV_Ab = cV_Ad if and only if b⁻¹V_Aa⁻¹ = d⁻¹V_Ac⁻¹ i.e., at_Ab = ct_Ad if and only if b⁻¹t_Aa⁻¹ = d⁻¹t_Ac⁻¹ and 1 − af_Ab = 1 − cf_Ad if and only if 1− b− 1 fAa−1 = 1 − d− 1 fAc−1

Proof: Let aV_Ab = cV_Ad i.e. at_Ab = ct_Ad and 1 − af_Ab = 1 − cf_Ad. Now, ∀x ∈ G, we have, (b⁻¹t_Aa⁻¹)(x) = t_A(bxa) = t_A[(bxa)⁻¹] = t_A[a⁻¹x⁻¹b⁻¹] = (at_Ab)(x⁻¹) = (ct_Ad)(x⁻¹) = t_A(c⁻¹x⁻¹d⁻¹) = t_A[(dxc)⁻¹] = t_A(dxc) = (d⁻¹t_Ac⁻¹)(x) and 1 − (b⁻¹f_Aa⁻¹)(x) = 1 − f_A(bxa) = 1 − f_A[(bxa)⁻¹] = 1 − f_A[a⁻¹x⁻¹b⁻¹] = 1 − (af_Ab)(x⁻¹) = 1 − (cf_Ad)(x⁻¹) = 1 − f_A(c⁻¹x⁻¹d⁻¹) = 1 − f_A[(dxc)⁻¹] = 1 − f_A(dxc) = 1 − (d⁻¹f_Ac⁻¹)(x).

⇒ (b⁻¹t_Aa⁻¹)(x) = (d⁻¹t_Ac⁻¹)(x) and 1 − (b⁻¹f_Aa⁻¹)(x) = 1 − (d⁻¹f_Ac⁻¹)(x) ⇒ b⁻¹V_Aa⁻¹ = d⁻¹V_Ac⁻¹

Conversly, suppose that b⁻¹V_Aa⁻¹ = d⁻¹V_Ac⁻¹ i.e. (b⁻¹t_Aa⁻¹)(x) = (d⁻¹t_Ac⁻¹)(x) and 1 − (b⁻¹f_Aa⁻¹)(x) = 1 − (d⁻¹f_Ac⁻¹)(x). Now ∀x ∈ G, we have, (at_Ab)(x) = t_A(a⁻¹xb⁻¹) = t_A[(a⁻¹xb⁻¹)⁻¹] = t_A[(b⁻¹)⁻¹x⁻¹(a⁻¹)⁻¹] = t_A[bx⁻¹a] = (ct_Ad)(x) ⋅ and 1 − (af_Ab)(x) = 1 − f_A(a⁻¹xb⁻¹) = 1 − f_A[a⁻¹xb⁻¹] = 1 − f_A[a⁻¹xb⁻¹

Theorem 4.10. Let V_A be a vague group of a group G. Let H be a normal subgroup of G and $V_A(x) = V_A(e)$; $\forall x \in H$ then $\exists a$ function $A_H: H^G \to [0, 1]$ such that $V_{AH} = H^G A_H$ is a vague group.

Proof: Since, H is normal subgroup of G. Therefore, H^G is a group. Now, define a mapping

$$A_{H}: \frac{G}{H} \rightarrow [0,1] such that$$

$$V_{A_{H}}(xH) = \left\{ \begin{array}{l} V_{A}(e); x \in H \\ V_{A}(x); x \notin H \end{array} \right.$$

$$i.e., t_{A_{H}}(xH) = \left\{ \begin{array}{l} t_{A}(e); x \in H \\ t_{A}(x); x \notin H \end{array} \right. \& 1 - f_{A_{H}}(xH) = \left\{ \begin{array}{l} 1 - f_{A}(e); x \in H \\ 1 - f_{A}(x); x \notin H \end{array} \right.$$

Now, assume that, $xH = yH \Rightarrow xy^{-1} \in H$. Consider, $V_A(xy^{-1}) = V_A(e) \Rightarrow V_A(x) = V_A(y) \Rightarrow V_{A_H}(xH) = V_{A_H}(yH)$ i.e.t $t_{A_H}(xH) = t_{A_H}(yH)$ and $1 - f_{A_H}(xH) = 1 - f_{A_H}(yH)$. Hence, V_{A_H} is a well-defined map. Now, if $x, y \notin H$ then consider, $t_{A_H}(xH)^{-1} = t_{A_H}(x^{-1}H) = t_A(x^{-1}H) = t_A(xH) + t_A(xH) +$

 $1 - f_A(x^{-1}) = 1 - f_A(x) = 1 - f_{A_H}(xH). \Rightarrow V_{A_H}((xH)^{-1}) = V_{A_H}(xH). \text{ Also, } t_{A_H}(xH*yH) = t_{A_H}(xyH) = t_A(xy) \geq \min(t_A(x), t_A(y)) \geq \min(t_{A_H}(x), t_{A_H}(y)) \geq \min(t_{A_H}(xH), t_{A_H}(yH)) \text{ and } 1 - f_{A_H}(xH*yH) = 1 - f_{A_H}(xyH) = 1 - f_{A_H}(x), 1 - f_{A_H}(xH), 1 - f_{A_H}(xH) \Rightarrow V_{A_H}(xH*yH) \geq \min(V_{A_H}(xH), V_{A_H}(yH)). \text{ If } x, y \in H \text{ then consider }, t_{A_H}(xH)^{-1}) = t_{A_H}(x^{-1}H) = t_A(e) = t_{A_H}(xH) \text{ and } 1 - f_{A_H}(xH)^{-1}) = 1 - f_{A_H}(x^{-1}H) = 1 - f_{A_H}(e) = 1 - f_{A_H}(xH). \Rightarrow V_{A_H}(xH)^{-1}) = V_{A_H}(xH). \text{ Also, } t_{A_H}(xH*yH) = t_{A_H}(xyH) = t_A(e) \geq \min(t_A(x), t_A(y)) \geq \min(t_{A_H}(x), t_{A_H}(y)) \geq \min(t_{A_H}(xH), t_{A_H}(yH)) \otimes V_{A_H}(xH*yH) = 1 - f_{A_H}(xH), 1 - f_{A_H}(yH)) \Rightarrow V_{A_H}(xH*yH) \geq \min(V_{A_H}(xH), V_{A_H}(yH)).$

5. Conclusion

Group theory has many real-life applications in the field of Space study, Analytical chemistry, computer science, medical sciences, life sciences, economics, etc. Here, we studied some new outcomes of vague groups and then defined a novel way to represent the vague left and right cosets. The idea of a vague normal subgroup has also been defined. The basic objective of this paper is to find outsome new outcomes on vague coset and vague normal groups. We generalized the results of fuzzy group theory to the vague group theory by adding the false membership value in existing results of fuzzy group theory and also in the last theorem, we provedthe existence of a function for making crisp quotient group a vague group and found that these results are applicable in vague group theory. Vague set theory universally used in pattern recognition, decision-making, logic programming, and medical diagnosis. It seems to have been more popular than fuzzy sets technology in recent years. In the end, we hope that this work encourages further study in this field. As it is the area has maximum application in almost every field.

Acknowledgment

This work has been carried out under the URGS Ref. number Dev./1043 dated 29.06.2022. The second author is grateful to the University Grants Commission for financial assistance. Aknowledged the other authors also for providing literature and writing, editing and formatting the article as per journal requirements.

Conflicts of Interests: None

References

- [1] L.A. Zadeh, *Fuzzy sets*, Information and Control . **8(3)** (1965), 338–353. https://doi.org/10.1016/S0019-9958(65)90241-X
- [2] A. Kaufmann, *Introduction to the theory of Fuzzy Subsets*, Academic Press, New York, 1975.

- [3] A. Rosenfeld, *Fuzzy Groups*, Journal of Mathematical Analysis and Applications, **35(3)**(1971),512–517. https://doi.org/10.1016/0022-247X(71)90199-5
- [4] J. M. Anthonyand H. Sherwood, *Fuzzy Groups Redefined*, Journal of Mathematical Analysis and Applications, **69(1)**(1979),124–130. https://doi.org/10.1016/0022-247x(79)90182-3
- [5] W. M. Wu, *Normal fuzzy subgroups*, Fuzzy mathematics, **1**(1)(1981),21–30.
- [6] N.P. Mukherjee, *Fuzzy normal subgroups and fuzzy cosets*, Informatisciences, **34**(3)(1984), 224-239. https://doi.org/10.1016/0020-0255(84)90050-1
- [7] N.Ajmal and K.V. Thomas, *The lattice of fuzzy subgroups and normal subgroup*, Information sciences, **76(1)**(1994),1–11. https://doi.org/10.1016/0020-0255(94)90064-7
- [8] W.L. Gauand D.J. Buehrer, Vaguesets, IEEE Transactionson System, Man, and Cybernetics, 32) (1993), 610–614. https://doi.org/10.1109/21.229476
- [9] M. Demirci, *Vaguegroup*, Journal of Mathematical Analysisand Applications, 230(1)(1999), 142–156. https://doi.org/10.1006/jmaa.1998.6182
- [10] Y. Zhang, Some properties offuzzy subgroups, Fuzzysetsandsystems,119(3)(2001),427–438. https://doi.org/10.1016/s0165-0114(99)00102-5
- [11] W. Jue., S. Y. Liu and J. Zhang., *Roughness of vague set*, International Journal of computational cognition, 3(3)(2005), 82–86.
- [12] R. Biswas, *Vague Groups*, International journal of computational cognition, 4(2)(2006), 20–23.
- [13] H. Khan, M. Ahmed, and R. Biswas, *On Vague groups*, International Journal of computational cognition, 5(1)(2007), 27–30.
- [14] N. Ramakrishna, *Vague normal groups*, International journal of computational cognition, 6(2)(2008), 10–13.

- [15] N.Ramakrishna, *A characterization of cyclic groups*, International journal of computational cognition, 6(2)(2008), 7–9.
- [16] A.Solairaju, R. Nagarajan and, P. Murugananthan, *Q-vague groups and vague normal subgroups with respect to (T, S) norms*, International Journal of computer application, 15(7)(2011). 88–87,
- [17] V. Amarendra Babu, K.V. Ramarao and T.Anitha, *Vague additive groups*, Universal Journal of Applied Mathematics,bf3(3)(2015),50–52.
- [18] Ch.Mallika, N. Ramakrishna and G.Anandha Rao, *Vague cosets*, World Journal of Research and Review(WJRR), 3(2)(2016), 28–31.
- [19] B.O. Onasanya and S.A.Ilori, *On fuzzy subgroup and fuzzy cosets*, International Journal of Computer Application, 81(14)(2013), 20–22.
- [20] B.O.Onasanya and S.A.Ilori, *On cosets and normal subgroups*, International Journal of Mathematical Combinatorics, 3(2014), 35–40.
- [21] Z. T. Wale, *On I- vague products*, Ethiopian Journal of Science, 40(1)(2017), 9–15.
- [22] N. Ramakrishna, T. Eswarlal and B. Nageswararao, *Multivague groups*, NOVYI MIR research journal, 5(4)(2020), 0130–0135. [23] Md. N. Islam, *Some results on fuzzy cosets of a fuzzy subgroup of a group*, Thai Journal of Mathematics, 19(1)(2021), 29–36.